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APPLICATION NOTE N0, 7T
Calculation of Calibration Coefficients for
Sea Tech and Chelsea (Alphatracka) Transmissometers
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hiote: Ses Applicebon Nofe 81 for the WET Labs C-Sfar Tranamissomeler

Sea-Bird SEASOFT V2 sofiware (Seaseve V7 and SBE Data Processing) can output the following
fransrmissomeber resulls:

Light transmission [%] = { M * voltage cutput | + B
Baam attenuation coefficlent ¢ = - (1/z ) * In { light transmizssion [decimal] )

whpre

M and B are tha calibration coefficients.

Z I the transrmissometer path length (melers)

Light transmission [dacimal] & light transmission [%)] divided by 100.
M, B, ard z are input to the CTD corfiguration | con of  xmicon) fik

Note: Edit the CTD configuration (.con or . xmicon) filke using the Configure Inputs manu in Seasave V7 (real-time
data acquistion saftvare) ar the Configure menu in SBE Dala Processing (data procassing softwara).

M and B are Isted on the Sea-Bird Calbration Shest, wamum&uw -Bird 25 Tal g
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M={Tw/[WO-Y0])*(AD-Y0)/(Al- m-'r -8R} (.9 -.c0[) :,1115 ﬁ'if'.'-'ﬂ?
Bs-M*"Y1= -m.ﬁmﬂimu'f'.:-’_ﬂ-_ﬁﬁl -G8

wiere (he paramebers are listed on the Sea-Brd Calibration Sheet

+ Al = factory vollage cutput in alr (factory calibration from transmissometer ranufactures)
= 0 = faciory dark or zero (blocked path) voltage (Factory calibration from transmissomater manufaciurar)
# W0 = factory voltage output in pure water (factory calibration from fransrrssometer manufactuner)
» Tw = YW transmission in pure water
For fransmission relative to water (light fransmission in pure water = 100%), set Tw = 100%. or
For transmission relative to air (light transmission in ar = 100%), s&t Tw to a valua from Tabla 1 in this
documant
* A1 = current (most recent} woltage in alr
* 1 = gurrent (mast recent) dark or zero (blocked path) vollage

Because oblaning a good pure waler calbration can be difficult in the field, the voltage outpt in air 5 used as

the reference to irack the nstrument drift over time, By comparing the original voltage output in air to subsequent
viltage autpuls in air in the field, the inkisl instrurment slope (derived from the pure water calibration) can be
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